

#### **Tabulation Of Bids**

Event # : 41

Version: 4

Name: Uniform for Public Works

**Description:** The City of Fort Lauderdale, Florida (City) is seeking bids from qualified bidders, hereinafter referred to as the Contractor, to provide uniforms for the Public Works department, in addition to other departments within the City as needed, and in accordance with the terms, conditions and specifications contained in the Invitation to Bid (IFB).

Open Date: 02/03/2023 12:00:00 PM

Close Date: 03/13/2023 02:00:00 PM

Event Currency: USD

Supplier

Omega Marketing Group, Inc

826 N Hoagland Blvd Kissimmee, FL 34744 Bid Amount

119,767.98

57.50000000

Items

# Item: TACTICAL PANTS Description: TACTICAL PANTS Male #74273 Unit of EA Measure: Quantity: 500.0000 Quantity Unit Price Extended Amount

500.0000

Omega Marketing Group, Inc

#### Item: TACTICAL PANTS FEMALE #64360

Description: Tactical Pants Female #64360

28,750.00

Tabulation Of Bids For Event # 41: Uniform for Public Works			
Unit of EA Measure:	Quantity: 25.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	25.0000	57.5000000	1,437.50
Item: TACTICAL S	SHORTS MALE #7328	7 & 73	
Description: Tactical Shorts M	1ale #73287 & 733308		
Unit of EA Measure:	Quantity: 350.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	350.0000	51.50000000	18,025.00
Measure:	Quartitu		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	25.0000	51.5000000	1,287.50
Item: SHIRTS, SH Description: Shirts, Shorts Sle Unit of EA Measure:	eeve Dress Shirt (Male) (XS-XL) Quantity: 100.0000	5 SHIR	
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	100.0000	23.22000000	2,322.00
Item: SHIRTS, SH	IORT SLEEVE DRESS	SHIRT	
Description: SHIRTS, SHORT S	SLEEVE DRESS SHIRT (Male) (XXL & large	r & tall	
Unit of EA Measure:	Quantity: 100.0000		

41: Uniform for Public Works		
Quantity	Unit Price	Extended Amount
100.0000	28.75000000	2,875.00
ORT SLEEVE DRESS	SHIRT	
ve Dress Shirt (Female) (XS-XL)		
Quantity: 50.0000		
Quantity	Unit Price	Extended Amount
50.0000	23.22000000	1,161.00
NG SLEEVE DRESS S	HIRT	
ve Dress Shirt (Male) (XS-XL)		
Quantity: 100.0000		
Quantity	Unit Price	Extended Amount
100.0000	24.75000000	2,475.00
NG SLEEVE DRESS S	HIRT	
ve Dress Shirt (Male) (XXL & Larger & Tal	II)	
Quantity: 50.0000		
Quantity	Unit Price	Extended Amount
50.0000	30.29000000	1,514.50
NG SLEEVE DRESS S	HIRT	
ve Dress Shirt (Female) (XS-XL)		
Quantity: 25.0000		
Quantity	Unit Price	Extended Amount
25.0000	24.75000000	618.75
	Quantity 100.0000 ORT SLEEVE DRESS we Dress Shirt (Female) (XS-XL) Quantity: 50.0000 Quantity 50.0000 NG SLEEVE DRESS S We Dress Shirt (Male) (XS-XL) Quantity: 100.0000 NG SLEEVE DRESS S We Dress Shirt (Male) (XXL & Larger & Tal Quantity: 50.0000 Quantity: 50.0000 NG SLEEVE DRESS S We Dress Shirt (Male) (XXL & Larger & Tal Quantity: 50.0000 NG SLEEVE DRESS S We Dress Shirt (Female) (XS-XL) Quantity: 25.0000	Quantity       Unit Price         100.0000       28.75000000         ORT SLEEVE DRESS SHIRT         ve Dress Shirt (Female) (XS-XL)       Quantity       Unit Price         Quantity       Unit Price       50.0000       23.22000000         NG SLEEVE DRESS SHIRT         ve Dress Shirt (Male) (XS-XL)       Quantity       Unit Price         Quantity       Unit Price       100.0000       24.75000000         NG SLEEVE DRESS SHIRT         ve Dress Shirt (Male) (XS-XL)       Quantity       Unit Price         100.0000       24.75000000       24.75000000         NG SLEEVE DRESS SHIRT         re Dress Shirt (Male) (XS-XL)         Quantity       Unit Price         100.0000       24.75000000         NG SLEEVE DRESS SHIRT         re Dress Shirt (Male) (XSL & Larger & Tall)       Quantity         Quantity       Unit Price         50.0000       30.29000000         NG SLEEVE DRESS SHIRT         re Dress Shirt (Female) (XS-XL)         Quantity       2.000         Quantity       Unit Price         20.0000       30.29000000

## Item: SHIRTS, STAFF GOLF STYLE (MALE/F

Page 3

Description: Shirts, Staff Golf Style (Male/Female) (XS-XL)
Unit of EA
Quantity: 500.0000
Measure:

	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	500.0000	20.68000000	10,340.00
Item: SHIRTS, ST	AFF GOLF STYLE (MA	ALE/F	
Description: Shirts, Staff Golf	Style (Male/Female) (XXL-6XL & Tall)		
Unit of EA Measure:	Quantity: 400.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	400.0000	25.83000000	10,332.00
Item: SHIRTS, DF	RI-MESH POLO (MALE	/FEMA	
Description: Shirts, Dri-mesh	Polo (Male/Female) (XS-XL)		
Unit of EA Measure:	Quantity: 150.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	150.0000	17.14000000	2,571.00
Item: SHIRTS , D Description: Shirts , Dri-mesh	RI-MESH POLO (MALI Polo (Male/Female) (XXL-6XL)	E/FEM	
Unit of EA Measure:	Quantity: 75.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	75.0000	21.97000000	1,647.75
Item: WINDBREA	KER JACKETS (XS-XL	)	
Description: Windbreaker Jack	kets (XS-XL)		
Unit of EA Measure:	Quantity: 50.0000		

Page 4

	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	50.0000	43.22000000	2,161.00
Item: WINDBREA	KER JACKETS (XXL-4)	XL)	
Description: Windbreaker Jac	kets (XXL-4XL)		
Unit of EA Measure:	<b>Quantity:</b> 60.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	60.0000	47.32000000	2,839.20
Item: CAPS, STR	UCTURED		
Description: Caps, Structured			
Unit of EA Measure:	Quantity: 200.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	200.0000	8.14000000	1,628.00
Item: HATS - HEN	NSCHEL S/M, L/XL		
Description: Hats - Henschel	S/M, L/XL		
Unit of EA Measure:	Quantity: 50.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	50.0000	20.91000000	1,045.50
Item: FULFILLME	NT SERVICE - LOGO		
Description: Fulfillment Servio	ce - Logo		
Unit of EA Measure:	Quantity: 3,000.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	3,000.0000	0.75000000	2,250.00

Tabulation Of Bids For Event # 41: Uniform for Public Works

	SERVICE			
Description: Tailoring Service	ž			
Unit of EA Measure:	Quantity: 500.0000	Quantity: 500.0000		
	Quantity	Unit Price	Extended Amount	
Omega Marketing Group, Inc	500.0000	5.5000000	2,750.00	
Item: CORNERST	ONE® ANSI 107 CLAS	5S 2 ME		
Description: CornerStone® A	NSI 107 Class 2 Mesh Zippered Vest SM-X	(L		
Unit of EA Measure:	Quantity: 200.0000			
	Quantity	Unit Price	Extended Amount	
Omega Marketing Group, Inc	200.0000	14.75000000	2,950.00	
	Quantity	Unit Price		
Omega Marketing Group, Inc	Quantity		Extended Amount	
	200.0000	16.29000000		
	B MEN'S LAKESHORE	16.29000000 STRETC		
Description: UltraClub Men's	<b>B MEN'S LAKESHORE</b> Lakeshore Stretch Cotton Performance Po	16.29000000 STRETC		
	B MEN'S LAKESHORE	16.29000000 STRETC		
Description: UltraClub Men's Unit of EA	<b>B MEN'S LAKESHORE</b> Lakeshore Stretch Cotton Performance Po	16.29000000 STRETC	3,258.00	
Description: UltraClub Men's Unit of EA	B MEN'S LAKESHORE Lakeshore Stretch Cotton Performance Po Quantity: 300.0000	16.29000000 <b>STRETC</b> No	3,258.00 Extended Amount	
Description: UltraClub Men's Unit of EA Measure: Omega Marketing Group, Inc	B MEN'S LAKESHORE Lakeshore Stretch Cotton Performance Po Quantity: 300.0000 Quantity	16.29000000 <b>STRETC</b> olo Unit Price 22.46000000	3,258.00 Extended Amount	
Description: UltraClub Men's Unit of EA Measure: Omega Marketing Group, Inc Item: DEVON & J	B MEN'S LAKESHORE Lakeshore Stretch Cotton Performance Po Quantity: 300.0000 Quantity 300.0000	16.29000000 STRETC olo Unit Price 22.46000000 RFORMAN	Extended Amount 3,258.00 Extended Amount 6,738.00	

	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	300.0000	24.77000000	7,431.00
ltem: DEVON & J	ONES CROWNLUX PE	RFORMAN	
Description: Devon & Jones C	rownLux Performance%E2%84%A2 Ladie	s' Plaited	
Unit of EA Measure:	<b>Quantity:</b> 50.0000		
	Quantity	Unit Price	Extended Amoun
Omega Marketing Group, Inc	50.0000	24.77000000	1,238.50
Item: DELIVERY			
Description: Delivery			
Unit of DO Measure:	<b>Quantity:</b> 1.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	1.0000	25.0000000	25.00
Item: LINE 11 AL	TERNATE RESPONSE		
Description: Shirts, Staff Golf	Style (Male/Female) (XS-XL)		
Long Item Shirts, Staff Golf Description:	Style (Male/Female) (XS-XL)		
Unit of EA Measure:	Quantity: 1.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	1.0000	23.83000000	23.83
Item: LINE 12 AL	TERNATE RESPONSE		
Description: Shirts, Staff Golf	Style (Male/Female) (XXL-6XL & Tall)		
-	Style (Male/Female) (XXL-6XL & Tall)		
Unit of EA Measure:	Quantity: 1.0000		

Tabulation Of Bids For Event # 41: Uniform for Public Works

Tabulation Of Bids For Event #	# 41: Uniform for Public Works		
	Quantity		Enter de la Amount
··· · · · · · · · · ·	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	1.0000	29.06000000	29.06
Item: LINE 13 AL	TERNATE RESPONSE		
Description: Shirts, Dri-mesh	Polo (Male/Female) (XS-XL)		
Long Item Shirts, Dri-mesh Description:	Polo (Male/Female) (XS-XL)		
Unit of EA Measure:	Quantity: 1.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	1.0000	20.14000000	20.14
Description: Shirts , Dri-mesh			
Long Item Shirts , Dri-mesh Description:	Polo (Male/Female) (XXL-6XL)		
Unit of EA Measure:	Quantity: 1.0000		
	Quantity	Unit Price	Extended Amount
Omega Marketing Group, Inc	1.0000	23.75000000	23.75
Item: LINE 15 AL	TERNATE RESPONSE		
Description: Windbreaker Jack	kets (XS-XL)		
Long Item Windbreaker Jack Description:	<ets (xs-xl)<="" td=""><td></td><td></td></ets>		
Unit of EA Measure:	Quantity: 1.0000		

Omega Marketing Group, Inc

### Item: LINE 16 ALTERNATE RESPONSE

Description: Windbreaker Jackets (XXL-4XL)

Long Item Windbreaker Jackets (XXL-4XL) Description:

Unit of EA

Quantity: 1.0000

Measure:

Omega Marketing Group, Inc

Page 9